Weak Verbs: I-Nun (Ross 34)
Dr. Phillip Marshall

REVIEW: What is “weak” about the consonant (C) 3 (nun)? It suffers from the “Borg

Problem”—the problem of assimilation. That is, whenever a nun closes a syllable AND butts
up against an adjacent C following nun, it assimilates to that C. Once that happens, the
duplicate C is written once with a DF. Thus, DF represents the assimilated nun.

Ex.1: “from a king” -[‘7?5"[?3, written with assimilation: -[5?573 (< -[‘7?53?3)

Ex2:“Igave” P03 (< NNNI < *RNINY)

QUESTION: Where in the strong verb principal parts will this assimilation problem with

R1-nun occur? Wherever some prefix consonant (either the stem-prefixes i1/3 or the

NUTTY-prefixs 8772) tries to close a syllable with R1-nun, it will assimilate to the next
C, the R2 letter right behind it. Let’s look at the Principal Parts Chart handout to get an
overview of where these situations happen. Then we’ll look at a few examples.

Note: throughout the lesson, we will make use of the following I-nun verbs:

5D w0 fall RW3 ‘to lift up’
w;; ‘to approach’ 1803 ‘o give’
UQ; ‘to travel’ =723 Hi ‘to tell, declare’

1. The pervasive problem of R1-nun assimilating to R2 when some prefix C closes the
syllable with R1. (See Ross 34.2.1; 34.3; 34.4; 34.5.)

Stem/conj PG# Form  Assimilation process English gloss
QalImpf  3ms  5BM 5B37> 5By he will fall
Vol VD> U0D?  he will travel
R KW > RWW?  he will life up
10 M5 IANY he will give
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3fs pl=lg) SBIn she will fal

ely YOI she will eravel

RN RWIN  she will life up

70 1IN she will give
Niph Pft ~ 3ms ik 1733 > 1003 he/it was given
Niph Ptc  ms ik 1733 > 1003 given

Hiph Pt 3ms T3 T9397> 717337 herold

Hiph Impf  3ms 70 79237 > 700 he will tell

Hiph WCI  3ms  =T3M P> andhetold
Hoph Pft  3ms Ta7 T3 > T2 he/it was told
Hoph Impf  3ms N A2 > T he/it will be told
Hoph WCI  3ms TaM A7 > TN and he/it was told

2. Potential problems in Qal Impv and Qal Infc: apheresis of R1-nun. (See Ross 34.2.2 and
34.2.3)

I-nun verbs in the Qal Impv and Qal Infc can follow a strong pattern (like the strong

verb T2D) or a weak pattern.

2.1 STRONG PATTERN: Generally, if the I-nun verb has a Qal Impf form with theme-
vowel Aolem, then the Qal Impv/Infc follows the normal, strong pattern.

QalPfe  3ms oD 5D)  hefll
Qal Impf ~ 3ms gimiay 5B he will fall
Qal Impv ~ 2ms 'I'PD 553 fall!
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to fall/the act of

Qal Infc iz bDJ falling

2.2 WEAK PATTERN: If the I-nun verb has a Qal Impf form with theme-vowel NON-
holem, then the Qal Impv/Infc follows the weak pattern with APHERESIS of R1-nun. In
apheresis, the R1-nun “falls into Sheol.” It goes missing completely and is not visible
anywhere. Thus, the nun is not assimilated (otherwise we would see a DF); it is now
AWOL! [Remember: this weak pattern occurs only in Q-Impv/Infc. Memorize the
acronym QIIC and think, “Quick, get me a doctor ‘cause these verbs are sick!”]

2.2.1 Qal Impv: Start with Impf, and remove the NUTTY prefix (chop off the head!).
Do not re-insert the R1-nun; let it fall into Sheol!

Qal Impf  Qal Impv

Root 3ms 2ms

(What would the Impv 2fs, 2mp, and

wald wad wa 2fp look like?)

2.2.2 Qal Infc: Drop R1-nun, leave R2 and R3. Add at final taw (D)after R3 (the bonus

D), and then apply a segolate vowel pattern to the letters where possible.

Qal Impf  Qal Infc (add

Root 3ms which vowels?)

wad wao gl

Below is a chart with a sampling of I-nun forms.
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Impf

Qal Qal
Qal Pft Gloss Qal Impf  theme Tmpy mpy  Qal Infc Qal Infc +
3ms 3ms vowel 3ms sfx
2ms  2ms (alt)
holem?
5oy fll 5B yes by oDy BBy 95D
W) approach WY no wa M@y nwlo nw)
vo3 vl VDY o vo Mye nve  nvo
RY L
. _ . . . S ANND
Ry life up RS no Ry N nNw L
TT T T T @ ol ijJ
10 give 1 no mo TR iy algly

3. The verb ﬂl?‘? (‘to take’): a verb with multiple personalities! This verb is clearly I-lamed,
but it behaves in the Qal stem like it’s I-nun! (It’s normal in any other stem!)

Qal Pft 3ms ﬂl?‘? he took

Qal Impf  3ms P2 he will take

Qal Impv ~ 2ms MR take!

Qal Infc nljé to take/the act of taking
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